Enkopings BS
Trivselbridge 2022-03-29

Partavling, 7 bord, 14 par. Antal brickor: 20. Medel: 120.0.

Plac Par Poéng % Namn MID Klubb
1 7 141 58.75 Dorthy Edholm - Marita Virtanen 51976 68696 Enkopings BS
2 14 137 57.08 Bo Holm - Boris Pettersson 32551 85580 Enkdpings BS - PRO Enkodping Bridge
3 10 135 56.25 Kent Tibbelin - Bjérn Uggla 44592 89959 Enkdpings BS
4 5 133 55.42 Bjorn Ove Pettersson - Herbert Laubner 53085 59907 PRO Enkoping Bridge
5 4 130 54.17 Margareta lvedal - Ulla Zetterstrom 89994 52038 Enkdpings BS
5 9 130 54.17 Kiristina Lindblad - Ulla Reuterskitld 57981 57979 Enkopings BS
7 1 121 50.42  Anita Ahlstrém - Ulla Lindgren 16261 41501 Enkopings BS
7 13 121 50.42 Monica Forsling - Kalle Wahlsten 59116 59121 Enkdpings BS
9 6 118 49.17  Anita Forsberg Eriksson - Birgitta Jakobsson 61069 57881 Enkdpings BS
10 8 115 47.92 Rig Grandin - Lars Hansson 57854 59411 Enkopings BS
11 2 112 46.67 Ola Ekstrand - Ingrid Ekstrand 65921 65920 Enkopings BS
12 11 108 45.00 Sonja Jonsson - Conny Johansson 59906 59905 Enkdpings BS
13 3 105  43.75 Orjan Akerblom - Lars Aberg 47292 38605 Enkoépings BS - PRO Enképing Bridge
14 12 74 30.83 Inger Jonsson - Gunilla Lennartsson 66794 66795 Enkopings BS
1 +D1084 Basta kontrakt 2 498742 Basta kontrakt 3 4« KD87 Basta kontrakt
Nord v K1087 44 O D -1 100 Ost vE96 54 SD-1-200 Syd v 107 ANT S =430
Ingen + 1096 NS ¢ D9542 ov + EK5
#Kn6 & ¢ v & NT &- & ¢ v & NT #EKn92 & ¢ v o NT
4 E9752 4K6 N49 975 |a- «KD3 N 18 3 102 410952 4 E63 N 6 11109 10
vKn95 v32 S 49975 |vKD4 v1087532 S 1 8 3 102 vD9 v K82 S 6 11109 10
¢43 ¢ 872 O9 436 4 |86 ¢ EKn10 O 114 103 8 +9 ¢ Kn643 06 2242
«D75 #EK9432 V 9 4 36 4 |&KDKn86543 &E V 114 103 7 #D107654 #K83 V62242
4 Kn3 # EKn1065 +Kn4
v ED64 vKn v EKn6543
+ EKDKn5 ¢+ K73 + D10872
108 #10972 »-
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
14 10 4v S= A 420 120 00| 8 13 4v 0O-1 s A 50 120 00| 3 12 4y N+1 ¢3 450 11.0 1.0
2 12 INS+2 &2 150 100 20| 2 12 3vO= 45 -140 100 2.0|(10 8 4vy N+1 &A 450 11.0 1.0
3 6 2y N+1 &A 140 50 70|14 10 5#0-= +5 -400 80 40| 9 13 4v S= ¢9 420 8.0 4.0
8 13 3vy N= «A 140 50 70| 3 6 4v 0= a A -420 50 7.0|11 2 2NN= +3 120 6.0 6.0
9 7 3vS= &5 140 50 70| 9 7 4v 0= s A -420 50 7.0| 4 7 4vN-1 43 -50 20 10.0
11 1 3v S= a2 140 50 70|11 1 4vO+1 &5 -450 20 100| 6 5 4vS-1 +9 -50 2.0 10.0
5 4 4vy N-1 *A -50 0.0 120 5 4 64DS-3 ¥K -800 0.0 120(14 1 4vy N-1 ¢4 -50 20 100
4 s K4 Bésta kontrakt 5 & Kn762 Bésta kontrakt 6 « D6
Vast vK 6NT N =1440 Nord v K97 2v O =-110 Ost v53
Alla + E109852 NS + KKn9 ov ¢ KKn85
#KD109 & ¢ v & NT *EK4 & ¢ v & NT #Kn6432
4873 4EKn10965 N 1212117 12 4 D53 ~E84 N6 7567 4 Kn3 & E9854
vD863 v1042 S 1212117 12 vED8643 vKn S6 7567 vK1096 vKn7
¢K76 +Kn 000251 +D8 ¢+ E1063 O7 6 86 6 ¢ D9764 ¢ E3
2876 %432 V01251 #108 297653 V76866 «98 #ED107
4 D2 4 K109 4 K1072
v EKn975 v 1052 v ED842
+ D43 ¢ 7542 + 102
#EKn5 #DKn2 *K5
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang Par Kontr ut Res Poéang
10 8 4v S= 43 620 11.0 10|12 4 INN+1 &3 120 120 00|14 2 INN+1 44 120 12.0 0.0
11 2 5¢ N+1 A 620 11.0 10| 5 8 2NO-2 4K 100 100 20| 1 9 3NV-1 v5 100 10.0 2.0
3 12 5¢ N= 49 600 70 50|14 2 INS= v3 90 80 40|11 3 2vyN-1 ] -50 8.0 4.0
4 7 5¢ N= A 600 70 50| 1 9 2vV-1 *A 50 60 60| 7 6 2vS-2 LY -100 50 7.0
14 1 29vS+3 ¢6 200 40 80| 7 6 INN-1 &5 -100 40 80|10 13 3vS-2 ] -100 50 7.0
6 5 4¢ N+1 &A 150 20 10.0|10 13 2v V+1 a2 -140 20 100| 5 8 340= *K -140 20 10.0
9 13 3NS-1 43 -100 0.0 120(11 3 1a N-2 +3 -200 0.0 12012 4 2vS-3 +Q -150 0.0 12.0
7 « K82 8 4« K1043 9 & 8542
Syd v6 Vast v- Nord vK2
Alla ¢+ D7432 Ingen ¢+ E1084 ov ¢ EKDKn
#9654 #EK1085 #ED6
4 Kn97 4 E654 4 DKn862 4 E975 4Knl07 463
vEKD1054 v83 vED73 v95 vEKn98 vD53
¢ 109 + E85 + D76 + KKn92 ¢ 1072  +8654
*72 #EKDS8 *4 #Kn62 #Kn95  #K742
4 D103 .- « EKD9
vKn972 v KKn108642 v 10764
¢ KKn6 +53 493
#Kn103 D973 #1083
Par  Kontr Ut Res Poang Par  Kontr Ut Res Poang Par  Kontr ut Res Poang
11 4 3vV+2  ¢2 -200 120 00| 6 9 3&#N+2 &A 150 120 00|13 2 44 N+2 &4 480 12.0 0.0
2 10 3NO= +6 -600 90 30| 2 10 34 V-2 «K 100 100 20| 9 8 44 S+1 vA 450 8.0 4.0
3 14 3NO= LX) -600 90 30|12 5 4eV-1 &5 50 80 40|12 6 44 N+1 &4 450 8.0 4.0
8 7 4v V= 2 -620 6.0 60| 8 7 3NN-2 a7 -100 6.0 6.0|14 4 44 N+1 ¢5 450 80 4.0
12 5 3NO+1 v2 -630 40 80| 3 14 3aV+1l &A -170 40 80| 3 1 4a4S-= v8 420 40 8.0
1 13 4vy V+1 ¢2 -650 10 11.0|11 4 2NN-4 2 -200 20 100|211 5 3NN= «7 400 2.0 10.0
6 9 4vV+1l &4 -650 10 11.0| 1 13 34DV= #A -530 0.0 12.0| 7 10 2NN+3 &2 210 0.0 12.0
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10 «D5 11 « D864 12 49732
Ost v Kn9542 Syd v432 Vast v K107
Alla + Kn8 Ingen + D104 NS ¢ K9432
#7643 &KD7 &8
+ EK9 4 Kn872 109 & EK53 46 « KDKn1054
v D103 vE8 v EKD v Kn985 vE8654 D
¢ E97432 + KD6 ¢ EKKn82 +¢6 ¢+ 76 + D10
&K #EKN102 #943 #EKNn65 #E10954 #KKn73
410643 4 Kn72 «E8
vK76 v 1076 v Kn932
¢ 105 49753 ¢ EKn85
D985 #1082 D62
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr Ut Res Poang
9 8 6aV-2 v5 200 120 00| 8 1 4v0-1 a2 50 120 00|11 6 3¢ N+1 4K 130 120 0.0
11 5 6NO-1 v6 100 90 30| 4 2 3NV= a4 -400 100 20| 8 1 340-1 ¢ A 50 100 2.0
14 4 6NO-1 vQ 100 90 30| 5 14 4v 0= ¢7 -420 6.0 60| 5 14 4¢ N-1 vQ -100 80 4.0
13 2 3NV +1 v2 -630 6.0 60|11 6 4vV= &7 -420 6.0 60| 4 2 14a0+1 <A -110 50 7.0
3 1 3NO+2 &5 -660 40 80(13 3 44 V= &7 -420 60 60|10 9 240= ¢+5 -110 50 7.0
7 10 6NO = 46 -1440 20 100|10 9 3NV+1 a4 -430 10 11.0|12 7 24 O+2 45 -170 1.0 11.0
12 6 6NO+1 v6 -1470 0.0 120(12 7 3NV+1 &7 -430 1.0 11.0|13 3 24 O+2 &2 -170 1.0 110
13 « KD9 14 « DKn85 15 « KKn4
Nord v 876 Ost v 96 Syd vD9
Alla ¢ EKn Ingen +6 NS ¢ K72
#KD952 £986542 #ED976
4 Kn653 «7 494 4 K76 4 E873 492
vE3 v DKn1054 vEKD42 vKn10853 vK108 vE7432
47653 ¢ K1092 + K98 + Kn1073 + Kn109 ¢ EB863
#643 #Kn108 #E103 &7 &K43 #82
« E£10842 « E1032 « D1065
v K92 v7 v Kn65
+ D84 ¢ ED542 + D54
&E7 #KDKn #Kn105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
5 3 44 S+l vA 650 11.0 10 5 3 2¢DO-1 w7 100 120 00| 6 4 INN+2 v2 150 120 0.0
9 2 44 S+l v3 650 11.0 10| 1 10 3v V-1 +6 50 90 30|10 3 24 S= +9 110 100 2.0
6 14 3NN +1 vQ 630 80 40| 9 2 3vV-1 +Q 50 90 30| 2 1 INN= v2 90 70 5.0
12 8 44 N= vQ 620 50 70|12 8 INV+1 LY -120 6.0 60|14 7 INN= v2 90 70 5.0
13 4 44 N= vQ 620 50 70| 6 14 3vO= &K -140 30 90|12 9 2NN-1 v2 -100 3.0 90
11 7 34 S+1 vA 170 20 100|13 4 3v V= +6 -140 30 90|13 5 34S-1 vK -100 3.0 9.0
1 10 54 N-2 a7 -200 0.0 120(11 7 4v V+1 +6 -450 0.0 120(11 8 2y O+1 &5 -140 0.0 12.0
16 « Kn983 17 4 Kn632 18 « DKn84
Vast v93 Nord v 973 Ost v EKn8
oV 4632 Ingen ¢ 10963 NS ¢+ D2
#E1052 D6 D432
« ED6 & K75 2 K104 4 D985 495 » EK1062
v 107654 vKD8 vKKn62 vE85 v9752 vK63
+ 10 + EK854 ¢ DKn + K54 49853 ¢Kn
#KKn98 #D3 #EK107 #953 K108 #Kn976
#1042 «E7 473
v EKn2 vD104 vD104
¢ DKn97 ¢ E872 ¢ EK10764
764 #Kn842 &E5
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
11 8 4v V-1 «A 100 120 00|11 9 3NV-2 +3 100 120 0.0(13 6 3NN+1 &7 630 120 0.0
10 3 2v0+2 +¢Q -170 100 2.0|10 12 24 O= 2 -110 100 2.0| 8 14 3NN= «A 600 100 2.0
2 1 49 0= ¢7 -620 40 80| 1 4 2vV+1 *T -140 80 40| 3 2 2NN+2 2 180 80 40
6 4 4v0O= a2 -620 40 80| 7 5 2NO+2 7 -180 6.0 6.0|10 12 2¢ S+2 ¢+5 130 6.0 6.0
12 9 4v V= *5 -620 40 80|13 6 INV+4 *Q -210 40 80| 7 5 340-2 ¢+K 100 40 80
13 5 4v V= &A -620 40 80| 8 14 3NV= +3 -400 20 100| 1 4 2¢ S= 9 90 1.0 11.0
14 7 4v 0= ] -620 40 80| 3 2 3NV+1 a2 -430 0.0 120(11 9 2¢ S= a5 90 1.0 110
19 « EKDKNn92 20 « EKD106
Syd vE62 Vast v72
oV +98 Alla ¢ E85
D3 D62
463 » 10854 » 842 4953
vD53 v K10974 vED54 vK96
¢ EKKn106 ¢ 7 + Kn4 + K1072
#E98 #Kn52 #Kn875 #1043
a7 & Kn7
vKn8 vKn1083
¢ D5432 + D963
#K10764 &EK9
Par Kontr Ut Res Poéang Par Kontr Ut Res Poéang
2 5 4v0-2 &4 200 120 00| 1 12 3NN+1 ¢7 630 11.0 1.0
1 12 24 N= *7 110 9.0 30| 4 3 3NN+1 2 630 11.0 1.0
14 9 24 N= *7 110 90 3.0(14 9 44 N= ¢A 620 8.0 4.0
11 10 14 N= ¢7 80 6.0 60| 8 6 2NN+3 ¢7 210 6.0 6.0
4 3 24 N-1 *7 -50 30 90| 2 5 2NN+2 *7 180 40 80
8 6 24 N-1 *7 -50 30 9.0(13 7 24 N+2 v6 170 2.0 10.0
13 7 44 N-3 ¢7 -150 0.0 12.0(11 10 3NN-1 2 -100 0.0 12.0
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